
A l l  r i g h t  r e s e r v e d .  N o  p a r t  o f  t h i s  m a n u a l  m a y  b e  r e p r o d u c e d  o r  t r a n s m i t t e d  i n  a n y  f o r m  o r  b y  a n y  m e a n s ,  e l e c t r o n i c  o r  m e c h a n i c a l ,  i n c l u d i n g  p h o t o c o p y,  r e c o r d i n g  o n  a n y  
i n f o r m a t i o n  s t o r a g e  a n d  r e t r i e v a l  s y s t e m  n o w  k n o w n  o r  t o  b e  i n v e n t e d ,  w i t h o u t  p e r m i s s i o n  i n  w r i t i n g  f r o m  I N O N  I n c .  

Sub Plate 
Screw Hole B 

Sub Plate 
Screw Hole A 

 
  
INON Grip Base D4 Compatibility Chart 
 
This chart provides complimentary information when installing the Grip Base D4 on compatible housing.  Refer to user manual of the 
Grip Base D4 for detail of installation method.  Check your camera/housing combination in the chart to see which「D Base・SPS」pattern 
you need, which screw hole to use (A or B) and if your combination requires a spacer or not. 

Glossary:  [Pattern] Combination patterns of Main Plate/Sub Plates. 
  ex) Olympus C-200Z + PT-009 requires【Pattern 3】. 
 [Screw Hole] Indicates which Screw Hole (A or B on Sub Plate) to use to fasten with a cap bolt. 
  ex) Olympus C-200Z + PT-009 uses Screw Hole【A】. 
 [Spacer] Indicates if a camera system/housing requires a spacer or not. 
  ex) Olympus C-200Z + PT-009【Not necessary】. 
 [MB/LAB] Mount Base(28LD, AD, 28AD, M67) or Lens Adapter Base(M67LAB, LDLAB) compatibility. 
 
｢D Base･SPS｣ preparation 

【Originally the「D Base・SPS」has『Pattern 1』/『Screw Hole B』configuration and not necessary to 
recombine if your camera system requires exactly same setting】 

① Unscrew M4 cap screws on Main Plate/Sub Plates by supplied M4 Hex Wrench. 
② Remove unnecessary Sub Plate(s) (if necessary) and recombine each plate according to your pattern (see below 

illustration).  
＊Align each plate relative to “INON logo” mark on the「D Base・SPS」. 

③ Push each plate all the way to directions indicated by small arrows in below images and fasten all plates by tightening 
M4 Cap Screws/M4 Washers. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
④ After adjusting each plates position, tighten the 1/4 Tripod Screw firmly to fasten the「D Base・SPS」.  

⑤ For installation method on your housing, please refer「Grip Base D4」user manual. 
 
＊＊When Tripod Screw Spacer is required＊＊ 
Make sure to use the Tripod Screw Spacer if your camera system requires it.  
The spacer is not pre-installed. 
Your housing may get damaged by the 1/4 Tripod Screw without using the spacer 
though your camera system requires to use the spacer.  

 

Pattern 1 Pattern 2 Pattern 3 Pattern 4 

(illustration shows 
when using Screw Hole B) 

(illustration shows 
when using Screw Hole B) 

(illustration shows 
when using Screw Hole A) 

(illustration shows 
when using Screw Hole B) 

Pattern 5 Pattern 6 Pattern 7 Pattern 8 

(illustration shows 
when using Screw Hole B) 

(illustration shows 
when using Screw Hole B) 

(illustration shows 
when using Screw Hole B) 

(illustration shows when using  
Pattern 5 and Screw Hole B) 



A l l  r i g h t  r e s e r v e d .  N o  p a r t  o f  t h i s  m a n u a l  m a y  b e  r e p r o d u c e d  o r  t r a n s m i t t e d  i n  a n y  f o r m  o r  b y  a n y  m e a n s ,  e l e c t r o n i c  o r  m e c h a n i c a l ,  i n c l u d i n g  p h o t o c o p y,  r e c o r d i n g  o n  a n y  
i n f o r m a t i o n  s t o r a g e  a n d  r e t r i e v a l  s y s t e m  n o w  k n o w n  o r  t o  b e  i n v e n t e d ,  w i t h o u t  p e r m i s s i o n  i n  w r i t i n g  f r o m  I N O N  I n c .  

December 2019 

 
 
 

Mfr Camera Housing Pattern 
Screw 
Hole Spacer MB/LAB RMK 

Olympus TG-6 PT-059 2 A No －  
TG-5 PT-058 2 A No －  
TG-3, TG-4 PT-056 2 A No －  
TG-830, TG-835 PT-055 2 A No －  
XZ-2 PT-054 3 A No －  
TG-1, TG-2 PT-053 2 A No －  
TG-820 PT-052 5 － No －  
TG-610, TG-8610 PT-051 5 － No －  
XZ-1 PT-050 5 － No －  
μTOUGH-6020, 8010 PT-048 6 B No －  
μTOUGH-6000 PT-047 6 B No 28AD  
FE-3010 PT-046 5 － No AD  
μTOUGH-8000 PT-045 6 B No 28AD  
FE-360 PT-044 5 － No AD  
μ1030SW PT-043 1 B No 28AD  
μ1020 PT-042 4 B No M67  
μ790SW, μ850SW PT-041 1 B No AD  
μ780, μ830 PT-039 1 B No M67  
SP-550UZ, SP-560UZ PT-037 1 A No －  
μ760 PT-036 1 B No AD  
μ770SW, μ795SW PT-035 1 B No AD  
μ750 PT-034 1 B No M67  
μ720SW, μ725SW PT-033 1 B No AD  
μ710 PT-032 1 B No AD  
SP-700 PT-031 1 B No AD  
SP-350 PT-030 1 B No AD  
μ600 PT-029 1 B No AD  
C-5060WZ, C-7070WZ PT-027 1 B No 28AD  
μ-40 PT-026 1 B No AD  
X-3 PT-024 1 B No AD  
C-8080WZ PT-023 1 B No －  
C-760UZ, C-770UZ PT-022 1 A No －  
C-5060WZ PT-020 1 A No 28AD  
C-740UZ, C-745UZ, C-750UZ, 
C-755UZ 

PT-018 1 B No －  

μ-10,μ-15,μ-20,μ-25,μ-30 PT-016 1 B No AD  
C-5050Z PT-015 1 A No －  
X-1, X-2 PT-014 1 B No AD/M67  
C-40Z PT-012 1 B No AD/M67  
C-2020Z, C-2040Z, C-3000Z, 
C-3030Z, C-3040Z, C-3100Z, 
C-4040Z, C-4100Z 

PT-010 1 A No － 
 

C-200Z, C-300Z PT-009 3 A No AD  
C-2020Z, C-2040Z, C-3000Z, 
C-3030Z, C-3040Z, 

PT-007 1 A No － 
 

C-2020Z, C-3000Z, C-3030Z PT-005 1 A No －  
                

Fujifilm FUJIFILM XQ1, XQ2 WP-XQ1 5 － No 28LD  
Finepix F300EXR, F550EXR, 
F600EXR 

WP-FXF500 5 － No M67LAB 
 

Finepix F80EXR WP-FXF80 5 － No M67LAB  
Finepix Z100fd, Z200fd, Z250fd WP-FXZ100 5 － No －  
Finepix F200EXR WP-FXF200 5 － No M67LAB  
Finepix F100fd WP-FXF100 5 － No M67LAB  
Finepix F50fd WP-FXF50 5 － No AD  
Finepix F40fd WP-FXF40 5 － No AD  
Finepix F30, F31fd WP-FXF30 5 － No AD  
Finepix F10, F11 WP-FXF10 1 B No AD  
Finepix F710, F810 WP-FX701 5 － No AD  

                        Sony DSC-RX100M5, DSC-RX100M4, 
DSC-RX100M3, DSC-RX100M2, 
DSC-RX100 

MPK-URX100A 3 A No － *2 

DSC- T77, T700, T90 MPK-THGB 7 A No AD  
DSC-T77, T700 MPK-THG 7 A No AD  
DSC- WX200, WX100, WX50 MPK-WH 1 B No M67LAB  
DSC-W170, W300 MPK-WD 1 B No M67  
DSC-W1, W5, W7 MPK-WA 6 B No AD  
DSC-N1, N2 MPK-NA 1 B No AD  
DSC-P100, P150 MPK-PHB 1 B No AD  

                Nikon E7900, E5900 WP-CP4 1 B No AD  
E4200, E5200 WP-CP2 1 B No AD  
E2200  E3200  E4100 WP-CP1 1 B No AD  

 

Mfr Camera Housing Pattern 
Screw 
Hole Spacer MB/LAB RMK 

Panasonic 
 
 

LUMIX FT5 MCFT5 2 B No 28LD  
LUMIX FT3, FT4 MCFT3 2 B No 28LD  
LUMIX FT2 MCFT2 2 B No 28AD  
LUMIX FT1 MCFT1 2 B No 28AD  
LUMIX TZ40 MCTZ40 2 B No M67LAB  
LUMIX TZ35 MCTZ35 2 B No M67LAB  
LUMIX TZ30 MCTZ30 2 B No M67LAB  
LUMIX TZ20 MCTZ20 2 B No M67LAB  
LUMIX TZ10 MCTZ10 2 B No M67LAB  
LUMIX TZ7 MCTZ7 2 B No M67LAB  
LUMIX TZ5 MCTZ5 2 B No M67LAB  
LUMIX TZ3 MCTZ3 2 B No －  
LUMIX ZX3 MCZX3 2 B No M67LAB  
LUMIX ZX1 MCZX1 2 B No M67LAB  
LUMIX FX40 MCFX40 2 B No 28AD  
LUMIX FX35, FX37 MCFX35 2 B No 28AD  
LUMIX FX30, FX33 MCFX30 2 B No 28AD  
LUMIX FX01, FX07 MCFX07 2 B No 28AD  
LUMIX FX01, FX07 MCFX01 2 B No 28AD  
LUMIX FS3, FS5 MCFS5 2 B No 28AD  
LUMIX FS1, FS2 MCFX07 2 B No 28AD  

        
        
        
Canon 
 

 

PowerShot G7 X Mark II WP-DC55 1 B No LDLAB  
PowerShot G7 X WP-DC54 1 B No LDLAB  
PowerShot G1 X Mark II WP-DC53 1 A Yes －  
PowerShot G16 WP-DC52 1 A No LDLAB  
PowerShot S120 WP-DC51 1 B No 28LD  
PowerShot SX280 HS WP-DC49 1 B No LDLAB  
PowerShot G15 WP-DC48 1 A No M67LAB  
PowerShot S110 WP-DC47 1 B No 28LD  
PowerShot D20 WP-DC45 2 B No 28LD  
PowerShot G1 X WP-DC44 1 A No LDLAB  
PowerShot SX260 HS WP-DC46 1 B No LDLAB  
PowerShot S100 WP-DC43 1 B No 28LD  
PowerShot S95 WP-DC38 1 B No 28LD  
PowerShot S90 WP-DC35 1 B No 28AD  
PowerShot G11, G12 WP-DC34 1 A No －  
PowerShot G10 WP-DC28 1 A No －  
PowerShot G9 WP-DC21 1 A No －  
PowerShot A650IS WP-DC18 1 A No －  
PowerShot A570IS WP-DC12 1 B No AD  
PowerShot G7 WP-DC11 1 A No －  
PowerShot A540 WP-DC2 1 B No AD  
PowerShot S80 WP-DC1 1 B No 28AD  
PowerShot A95 WP-DC50 1 B No AD *1 
PowerShot S60, S70 WP-DC40 1 B No 28AD *1 
PowerShot A75, A85 WP-DC30 1 B No AD *1 
PowerShot S1 IS WP-DC20 1 B No M67 *1 
PowerShot A80 WP-DC900 1 B No AD *1 
PowerShot A60, A70 WP-DC700 1 B No AD *1 
PowerShot S30, S40, S45, S50 WP-DC300 1 A No AD/M67  
PowerShot A10, A20, A30, A40 WP-DC200s 1 A No AD/M67  
PowerShot A10, A20 WP-DC200 1 A No AD/M67  
IXY 200F WP-DC36 1 B No 28AD  
IXY D220IS WP-DC33 1 B No 28AD  
IXY D510IS WP-DC32 5 － Yes 28AD  

IXY D210IS WP-DC31 1 B No AD  
IXY D110IS WP-DC29 1 B No AD  
IXY D3000IS WP-DC27 1 B No AD *1 
IXY D920IS WP-DC26 1 B No 28AD  
IXY D95IS WP-DC24 1 B No AD  
IXY D25IS WP-DC23 1 B No AD  
IXY D20IS WP-DC22 1 B No AD  
IXY D2000IS WP-DC19 1 B No AD *1 
IXY D910IS WP-DC17 1 B No 28AD  
IXY D810IS WP-DC15 1 B No AD *1 
IXY D90 WP-DC14 1 B No AD  
IXY D10 WP-DC13 1 B No AD  
IXY D900IS WP-DC9 1 B No 28AD  
IXY D1000 WP-DC7 1 B No AD *1 
IXY D800IS WP-DC5 1 B No AD *1 
IXY D70 WP-DC4 1 B No AD  
IXY D80 WP-DC3 1 B No AD  
IXY D700 WP-DC80 1 B No AD *1 
IXY D600 WP-DC70 1 B No AD *1 
IXY D400, D450, D500 WP-DC800 1 B No AD *1 
IXY D300a WP-DC500 1 B No AD/M67 *1 
IXY D300 WP-DC100 1 B No AD/M67 *1 

 *1 Do not push Sub Plate too hard against to housing wall. 

*2 The [D Holder] of the [Grip Base D4] is for left side use only. When attaching on 
the right hand side of the housing, the D Holder part may be touched on the back 
of your right hand. 

INON confirms product compatibility based on a camera/housing available in Japan. 

Mfr Camera Housing Pattern 
Screw 
Hole Spacer MB/LAB RMK 

Olympus OM-D E-M1 Mark II PT-EP14 1 A No － *2 
OM-D E-M5 Mark II PT-EP13 1 A No － *2 
PEN E-PL7 PT-EP12 3 A No －  
OM-D E-M1 PT-EP11 3 A No － *2 
PEN E-PL5 PT-EP10 3 A No － *2 
OM-D E-M5 PT-EP08 3 A No － *2 
PEN E-PM1 PT-EP06L 3 A No － *2 
PEN E-PL3 PT-EP05L 3 A No － *2 
PEN E-PL2 PT-EP03 3 A No － *2 
PEN E-PL1 PT-EP01 3 A No － *2 

        
        

Panasonic LUMIX GF2 X-2 for GF2 1 B No － *2 

LUMIX GF1 X-2 for GF1 1 B No － *2 

 

[Interchangeable lens digital camera] 

[Compact digital camera] 
 


